[1] tanx+cotx =secxcscx

L — 2 oS

\l

TN FCosRY

COS X Snn >
= \

COSX Snyx¢
= SECX CSC ¥
2] tan® B+cot® f=sec’ Besc? f-2
s = S@c,JG——l ;,CSCFA
C‘OSL@ Sy F‘
= S)Y’L()’* Ca5 ﬂ ,2,
?Smy\ﬂ’gg

('AE)S?'F fsW{“F "
[3] sin® 4 +cos* 4 =cos* A+sin* 4
= (|- cos AT + coA
|~ DcogAresstAr o
= - oA rcos’A
= SAA cos A

—
g

= sedPesAf -2

[4] séc(—t) —cos(—t) —csc(—t) + sin(—¢) + sin ¢ tan(—¢) = cosf cot?

Lozgsept — cos€ +esct - snk — I il e
= —‘Lt "Cob‘)c _\———-L— - g'pv\t _ oWt < \‘v-\t

o | - cos €
;‘;ﬂigk.vs st
T swt st

o1 z_t v
7‘2\;_&_ CDS X‘z St ;?:-t COS{ ca't "t’



[51 {tan A —sec Acsc A)(cot A —sec A csc /1) =1

- CA&EZ c@ﬁ;’es m"t?X i;i JL) - oS ‘;“Sw\ t >

= swrE=l  cost ~f
wu:u‘* g;y\“t costsintT

—.:- "Ch@}t e }‘5&7

W

cos' & —sin’ @

[6] ——=1- tan® 6 \
cos“ @ g i ,.Le>
Lo = Q‘«os;@/{swm’—@>(_c;c5 B-sin
cosO
- l - %&mﬂz”e
sinB+tan B
7] —————————=tanB
1+cosB Q
L, . onBxSep
b cos B

. s BeosBrsmB L
CDSB | ikQDcSB

= 2l LeasBFD
T s R | res 3

fon B




coty—tany cosy-—siny
cosy+siny  cosysiny

L = taSy @MW

N ‘4 L5 lﬂ
_‘__'_W7

C@Sj *5\%&
_,__m.,;;'j oot 1) a5l V. \

S\Hj CoSﬁ @Sj»r Sw\j
_ CchMV\ uDLcos \,\»—-Mwu\\ Ceasy-smy

(8}

3

5\'\'\3 05 ﬂ ﬁ*"ﬁ«»ﬂ) ‘?E.?‘.Mj W}»B

‘l—sina_ 1

]

cosa fseca+tana
L——:‘é = L . e ’i'm%{
Secol o X Soc ol Fou ol
= SeC o ‘)'U-/n X

w y ’A‘;‘{J‘QA i

.......L._-.,.-.- — 51\”‘\%
cos ot O vl

= J',,.w. ::",;L\.f‘"} QL
Cons o

£t

(secC—tanC)* +1
secCcescC—tanCescC

L = Sec (- sec Clon L_,-é dear® O A |
ese C (sec C= Fen ©)

. see C— 2sec ton L rsecC
Cose & (see C— o O
s ~2sec ChonmC

cse. & (secC— o C)
= 2gec C (seetztomC
cse O (seelr4on O

= 2 gaA - 2

cas C l

[10] =2tanC

i\




